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Note: 1) Attempt any five questions.
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i1) All question carry equal marks.
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iit)In case of any doubt or dispute the English version
question should be treated as final.
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1. Draw a neat sketch of Lamont Boiler, slow flue gas and water
path on it and have important path on the sketch.
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2. Define and explain followings.
1) Heat balance sheet
it) Equivalent evaporation
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4. Explain the following,

1)  Mach Number
1) Mach Cone

i) Zone of action
iv) Zone of silence
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3. a) Explain ?vorking"of reciprocating air compressors.
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b) Deduce an equation of work input to reciprocating Air
comp.rcssor without considering clearance.
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i i 3/min
' i compressor takes in 8m
ingle stage reciprocating alr. ) :
& AfSI'l:illblsbaﬁ and 30°C and delivers it at 6 bar. The clc?arance
?s aSl% of the stroke, the expansion and compression are
1 3 .
polytrophic with the value of n = 1.3. Calculate

a) Temperature of delivered air
b) Volumetric efficiency
c) Power absorbed by the compressor
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7. a) Discuss types of condensers.
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Discuss effect of friction on flow through nozzles define
nozzle efficiency.
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